Algebra1  Bellwork  Thursday, January 14, 2016
For 1 to 4 write the equation of each line in SLOPE-INTERCEPT FORM

1. The line has a slope of —%— and passes through the point (-6, 14)

EQ:

2. The line passes through the points (15,-3)&(25,1)

EQ:

3. Use the line in the graph. EQ:
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EQ:

5. A pool has 400 gallons of water in it and the owner puts the hose in the pool. Water comes out of the
hose at a rate of 3.5 gallons per minute.
a) Write an equation to model this situation.

b) Use this equation to predict the amount of time it will take until the pool has 1000 gallons of water.



Algebra1  Bellwork  Thursday, January 14, 2016 /72/(/5 WEFLS
For 1 to 4 write the equation of each line in SLOPE-INTERCEPT FORM

1. The line has a slope of —% and passes through the point (=6,14)

| M =Y (ke +Ho
EQ: - V=1 5 (x+6)
alkeaed YL Ak

V=-9x +&
2. The line passes through the points (15,-3)&(25,1)
. - L
m=17 2> > - 4 == .
EQ: _ = 2s-1 10 z 1= = x4+
I= =x-1 SKHL
I o Using (zs5,1)
2-
= =(25)+}
3. Use the line in the graph. | = o b
‘ —tQ -0
; —9-b

23

N

-4 -2 /k 2 q
] -

J
g
\l
-

4
=%

‘01)( =12 X

| EQ: 2
= X" — — - = - 2
]‘ zX o 8y =9¢-/2x 4= CF o

1

5. A pool has 400 gallons of water in it and the owner puts the hose in the pool. Water comes out of the

hose at a rate of 3.5 gallons per minute. 4+
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b) Use this equation to predict the amount of time it will take until the pool has 1000 gallons of water.




